	[image: image1.png]cbseﬁguess




	http://www.cbseguess.com/



  Guess Paper – 2010
Class – X
Subject- Mathematics
SECTION- (A) 
(one mark for each question)
1. After how many decimal places, will the decimal expansion of  2437   terminate?
                                                                                                           23 x 54
2. [image: image1.png]Find the middle term of AP 10, 7, 4, ….., -62.                       A
3. D is the mid point of BC                                                    ǿ   θ
     Find the value of   tan θ                                                                            

                                         tan ǿ                                    B          D          C               (-2,0)                   (3,0)
4. The graph of the curve y = x2+bx+c is shown in figure, find b & c.

5. The probability of guessing the answer of question is x/6 & probability of not guessing correct answer to this question is 1/3, find x.
6. How many times will be wheel of car rotate in journey of 88 km. if diameter of wheel is56cm.

7. Two concentric circle of radius 5 cm & 3 cm. find the length of chord of the larger circle which touches the smaller circle.
8. A right ∆ has hypotenuse of length ‘p’ cm & one side of length ‘q’ cm. if p-q =1 express IIIrd side in terms of p.

9. For what value of a & b system of equation has infinite number of solution.                            2x+3y = 7        a(x + y) -b(x-y) = 3a+b-2.

10. If one zero of polynomial 3x2+10x+k is 1/3, find other zero & k.
                                      SECTION- (B) (two marks for each question)
11. If sin 17• = p/q prove that sec 17•-sin 73• =  p2 / q √q2-p2.

                                                      or

          Express all trigonometric ratios in terms of cosec A.
12. If the point (-1,1) divide internally line segment joining (-3, a) & (b,-7) in ratio of 2:3.find a & b.
13.    D                                   C            ABCD is the rectangle AO = 6cm, OD = 5cm, 
                        O                                     OC = 8cm. Find the length of OB.
       
         A                                   B
14. If the zeroes of  of the polynomial x3-3x2 + x + 1 are p-q , p , p+q . Find value of p & q. 
15. solve for x          4                1        =          4      
                                x+2           x+3               2x+1                                                                                                                                                     
                                           SECTION- (C) (three marks for each question)
16. Sum of first six terms of A.P. is 42. The ratio of 10th terms to its 30th term is 1:3. Find the first term &13th term.    A
17.                                    6                PA & PB are tangents to the circle, length of chord AB is                                    
         P                      9.6   O              9.6 cm with centre O & radius 6 cm. find the length of PA.
                                      B

18. Draw a line segment AB of length 7 cm taking A as a centre, draw a circle of radius 3 cm & taking B as a centre draw another circle of radius 2.5 cm. Construct tangent to each circle from the centre of the other circle.
19.  If ‘a’ is the length of one side of equilateral ∆ ABC, base BC lies on x-axis & vertex B is at the origin. Find the coordinate of the vertices of ∆.
                                                                         Or
     Find the coordinates of the point equidistant from three given points A (5, 3), B (5,-5) & C  (1,-5).
20.  A letter blocks P which is uniformly broad 3.6cm throughout. The column is rectangular and 20 cm curved portion are semicircular .Find area of the blackened area. 
21. cos θ +sin θ  = √2 cos θ    prove that  cos θ- sin θ= √2 sinθ                                                                                                                              
                                   Or                                                                                          34cm
(1+cotA+tanA) (sinA – cos A) =    secA     -     cosecA                                                         20cm
                                                      cosec2A         sec2A                                                   3.6cm                                                                                                                                                                     
22. if (x, y)is point on the line joining (a,0) & (0,b) then prove that   x   +    y  =  1
                                                                                                             a          b

23. A number is chosen at random from 1 to 100natural number what is probability that                    

       (i) Number is divisible by 4 or 6       (ii) number is divisible by 4 & 6.
24. Prove that square of any positive integer can be written in form of 4m or 4m+1.
25. The sum of numerator & denominator of a function is 4 more than twice the numerator. If numerator & denominator are increase by 3 they are in ratio of 2:3, find fraction.
                                                             Or

    Solve for x & y           148   +   231    =    527      ,              231     +  148    =   610
                                         x             y             xy                        x           y            xy
                                           SECTION- (D) (six marks for each question)
26. Prove that in a ∆ if square of one side is equal to the sum of square of other two sides then the angle opposite to first side is right angle. Using above theorem prove that, in ∆ABC AD ┴ BC, AD2 = BD x DC. Prove that ∆ ABC is right ∆.
27.  If median of the following data is 46sum of frequency is 230, find the missing frequencies x & y.

	Class interval
	   10-20
	  20-30
	   30-40
	40-50
	50-60
	60-70
	70-80
	Total

	frequency
	    12
	     30
	     x
	   65
	   y
	    25
	    18
	230


                                                                  Or

Find the mean, median & mode of data.
	Class interval
	       0-10
	    10-20
	    20-30
	     30-40
	  40-50
	 50-60
	60-70

	frequency
	          5
	      10
	     18
	      30
	       20
	    12
	    5


28. From metallic cylinder radius 3.5 cm & height 10cm

       a conical cavity of diameter 1.4cm & height 2.4cm is cut

      out. Find the total surface area of remaining solid.
                                                             Or
 A hemispherical tank full of water is emptied by a pipe at the rate of 3 4/7 liter/sec. How much time will it take to empty the tank, if it is 3 m in diameter.
29. An aeroplane when flying at a height of 3125m from the ground passes vertically below another plane at an instant. When the angle of elevation of the two planes from same point on the ground are 30 & 60 respectively, find the distance between two planes at instant.
30. If twice the area of a smaller square is subtracted from the area of a larger square, the result is 14cm2.however, if twice the area of the larger square is added to three times the area of the smaller square, the result is 203cm2. Determine the sides of square.
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